EXAMBGOO0D

QUESTION & ANSWER

Exam Good provides update free of
charge in one year!

Accurate study guides
High passing rate!

http://www.examgood.com



The safer , easier way to help you pass any IT exams.

Exam . AQ00-281

Title - SAS Certified Clinical Trials

Programmer Using SAS 9
Accelerated Version

Version : Demo

1/9



The safer , easier way to help you pass any IT exams.

1.Given the following data at WORK DEMO:
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Which SAS program prints only the first 5 males in this order from the data set?

A. proc sort data=WORK.DEMO out=out;

by sex;
run;

proc print data= out (obs=5);

run;

B. proc print data=WORK.DEMO(0obs=5);

where Sex="M";
run;

C. proc print data=WORK.DEMO(where=(sex='"M"));

where obs<=5;
run;

D. proc sort data=WORK.DEMO out=out;

by sex descending;
run;

proc print data= out (obs=5);

run;
Answer: B

2.Which SAS program will apply the data set label 'Demographics' to the data set named DEMO.?

A. data demo (label="Demographics');

set demo;
run;
B. data demo;

set demo (label="Demographics’);

run;

C. data demo (label 'Demographics');

set demo;
run;
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D. data demo;

set demo;

label demo='Demographics’;
run;

Answer: A

3.The following SAS program is submitted:

proc sort data=SASUSER.VISIT out=PSORT;

by code descending date cost;

run;

Which statement is true regarding the submitted program?

A. The descending option applies to the variable CODE.

B. The variable CODE is sorted by ascending order.

C. The PSORT data set is stored in the SASUSER library.

D. The descending option applies to the DATE and COST variables.
Answer: B

4. What information can be found in the SAS Dictionary tables? (Choose two.)
A. datasets contained within a specified library

B. values contained within a specified format

C. variables contained within a specified dataset

D. values contained within a specified variable

Answer: A,C

5.Given the following data set: Which program was used to prepare the data for this PROC PRINT
output?

subjid trt result dtime age
i CR 0 56
2 A PD 1 5e
3 B FR 1 47
g B CR 2 29
s 1 sD 1 39
& C sD 3 2l
7 C PD 2 S0
1 A CR 0 43
3 B FD 1 56

The following output was generated from PROC PRINT

Cos subjid L o cesulc dt ime age
1 1 CR 0 56
] 2 A PD 1 52
3 3 B PR 1 47
q L] B CR 2 29
5 5 1 SD 1 39
6 5 c sDh 3 21
7 7 C PD 2 a0

A.proc sort data=one out=two;
by subijid;
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run;
B. proc sort data=one out=two nodupkey;
by subijid;

run;

C. proc sort data=one out=two nodup;

by subijid;

run;

D. proc sort data=one out=two nodupkey;
by subijid trt;

run;

Answer: B

6.This question will ask you to provide a line of missing code.
The following SAS program is submitted: Which statement is required to produce this output?

proc freq daca=disc;:
cinzmeprt code herps:
Eun;

to create the fallowing output:

The FREQ Frocedure
Table of site by group

sice gEoup

Freguenoy|

Percent |

Fow Poct  |Tecl | Tee2 | Tee3 | Total

————————— H——————

SITEA | 15 | 56 | 172 | 243
| 2.80 | 0.4%7 | 32.15 | 45.492
| 6.1 | 23.05 | 70.78 |

————————— S e S e s

ZITEE | 24 | T4 | 1949 | 202
| 4.49 | 13.83 | J6.26 | 54 .58
| B.22 | 25.34% | 66.4949 |

————————— et et et

Total 39 130 66 535

T.29 24.30 68.41 i00.00

A. TABLES site*group /nocol;

B. TABLES site*group /norow;

C. TABLES site*group;

D. TABLES site*group /nocol norow;D. TABLES site*group /nocol norow;
Answer: A

7.Which statement correctly adds a label to the data set?

A. DATA two Label="Subjects having duplicate observations";
set one;

run;

B. DATA two;

Label="Subjects having duplicate observations";
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set one;

run;

C. DATA two;

set one;

Label dataset="Subjects having duplicate observations";

run;

D. DATA two(Label="Subjects having duplicate observations");
set one;

run;

Answer: D

8.Given the following data set:

SUBJIID GENDER. AGE TRT

& il 63 3
4 u 63 i
5 ¥ Ta 5
1 F 45 1
o bl 57 2
2 F g 1
3 M 57 2

The following output data set was produced

SUBJID GEMNDEE. AGE TET

4 Ll 57 1
| H 5T 1
q M 63 2
q M 63 o
5 F Ta 3

Which SAS program produced this output?
A. proc sort data=one(where=(age>50)) out=two;
by subijid;

run;

B. proc sort data=one(if=(age>50)) out=two;
by subijid;

run;

C. proc sort data=one out=two;
where=(age>50);

by subijid;

run;

D. proc sort data=one out=two;

if age>50;

by subijid;

run;

Answer: A

9.CORRECT TEXT
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The following question will ask you to provide a line of missing code.
The following program is submitted to output observations from data set ONE that have more than one

record per patient.

proc Sort data=one ouc=Lwo:
by subjid:

rumn;

data cwo;
SET Cwo;

<insert code here>
if (first.subjid ne 1 or lest.subjid ne 1) then output ;

ruan 2

In the space below, enter the line of code that will correctly complete the program (Case is ignored. Do not
add leading or trailing spaces to your answer.).

I |

Answer: BYSUBJID; BYSUBJID;

10.Given the data set WORK.BP with the following variable list:

# Variahle Type Len Lake=l

1 DIABP Hum a8 Diastolie Blood Pressure
2 FTHO Char 4 Patient Numbier

i | SYSBEP Fluim a8 Sy=ztolic Blood Pressure

The following SAS program is submitted:

ods salect ExctremeChs:

proc univariste data=WORE.BP;
var DIABP:
id PTNO:

run;}

Which output will be created by the program? A. Option A
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ol 1
Extreme Observations
Lowest Highest
Value Obs Value Obs
&8 190 119 51
(3
Extreme Observations
Lowest Highest
Value | PTND Obs Value | PTNO Obs
68 | 6007 190 119 | 2710 51
&
Extreme Observations
Lowest Highest
Value Obs Value Obs
62 129 112 60
63 8 114 4
63 133 114 147
685 22 115 287
(] 150 119 51
et P
Extreme Observations
Lowest Highest
Value PTNO Obs Value BTNO Obs
62 | 5023 129 112 | 3020 60
63 1830 a 114 1701 4
B3 5029 133 114 5109 147
65 2201 22 115 | 8077 287
68 | 6007 190 119 | 2710 51
B. Option B
C. Option C
D. Option D
Answer: D

11.The following SAS program is submitted:

proc univariarte data=wWoORK.3TUDY;
by VISIT:
class REGION TREAT:
var HBALC GLUCOSE:
runzs

You want to store all calculated means and standard deviations in one SAS data set.
Which statement must be added to the program?
A. output mean std;

B. ods output mean=m1 m2 std=sl s2;

C. output out=WORK.RESULTS mean=m1 m2 std=s1 s2;
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D. ods output out=WORK.RESULTS mean=m1 m2 std=s1 s2;
Answer: C

12.Which program will report all created output objects in the log?
A. proc ttest data=WORK.DATAL ods=trace;
class TREAT;

var RESULTS;

run;

B. ods trace on;

proc ttest data=WORK.DATAL,;
class TREAT;

var RESULTS;

run;

C. ods trace=log;

proc ttest data=WORK.DATAI,;
class TREAT;

var RESULTS;

run;

D. ods trace log;

proc ttest data=WORK.DATAI,;
class TREAT;

var RESULTS;

run;

Answer: B

13.Review the following procedure format:

PROC TTEST deata=dats;
class group=-varimble;
var variasble;

s

What is the required type of data for the variable in this procedure?
A. Character

B. Continuous

C. Categorical

D. Treatment

Answer: B

14.The following output is displayed: Which SAS program created this output?
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Table of GENDER by ANSWER

GENDER INSWER

Fregquency| 1] Z| =] Total
————————— e e e e DL

1] iz | 22 | 5 1 g
————————— o

| | B | s | 33
--------- o e e
Total 34 30 B8 7
Freguency Hissing = 4

A. proc freq data=WORK.TESTDATA,; tables gender * answer / nocol norow nopercent; run;
B. proc freq data=WORK.TESTDATA; tables answer * gender / nocol norow nopercent; run;
C. proc freq data=WORK.TESTDATA,

tables gender * answer / nocol norow nopercent missing;

run;

D. proc freq data=WORK.TESTDATA,;

tables answer * gender / nocol norow nopercent missing;

run;

Answer: A

15.You want 90% confidence limits for a binomial proportion from a one-way table with PROC FREQ.
Which option must you add to the TABLES statement?

A. BINOMIAL

B. BINOMIAL ALPHA=0.9

C. BINOMIAL ALPHA=90

D. BINOMIAL ALPHA=0.1

Answer: D
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